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2xt271 = 9x

4x* = x2 = 2x
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(@)Qxﬁ x 3x? = 6x° @ (34?)3 = 94"
@ —2x3 x 3y? = —6x)° @)48a*x* + Bax® = Gax
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@ (3a%)? = 33(a?)® = 2748
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a3b® + a*b® = a>p’
13-2x=3,9-6=y
x=5,y=3
Sxy=15
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7t x ba x ba x (¥°]) = 1007a®b
(=°]) = 100ma®b + 5a + 5a + n = 4ab




6. O34 (4x +3y) - 2(2x —y + 1) = 7HH3] Shodat,

(4x+3y) —2(2x—y+1)
=4x+3y—4x+2y-2
=5y—-2




7. x(10x = 5) — 2x(2x + 1) & IFH5]| G Ao A x2 O] AFE a, x 9
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gx(lox -5)—2x(2x+ 1)
=2x% —x—4x% - 2x

= —2x% - 3x

coab=(~2) x (-3) =6




A = x?-3x+1, B = 3x?+5, C = -2x*+7x € 1, 3(A+B)-2C-(A-C)
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3(A+B)-2C—-(A-C)
=344+3B-2C-A+C

=2A+3B-C

= 2(x? —3x + 1) + 3(3x + 5) — (=2x + Tx)
=13x2 - 13x+ 17

na=13, b=-13, c=17

T a+b+c=17




9. (x+5)3x+2) EAARL W,y o A%E Foofer,

(x+5)(3x + 2y) = 3x% + 2xy + 15x + 10y
kA y o] A= 10010
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EA) =22 - (—y*+4y+4) =3y* —4y—-4
“a+b-c=3-4-(-4)=3




